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float _angle =

float a = 0.0;
float b = 0.9;
vNot ,7' .
L S (xvVal,yVal,0.0)
(0,0, Z) //;,&&a ?
#7 1 gVal

(xval,yVal,0.0)

float gval = 9.
float vhNot = 10.0;
float xVal = @.

8.0;
8;

@, ywal = 8.0;



Ivnid Draw()| { ...

#void theGun() [ ...

+lvoid theSurtace()

+void theBullet()

@




Ivnid Draw()| { ... }

#void theGun() { ... 1

#lvoid theSurface() { .. }

Flvoid theBullet()| { ... } N\

[ \
L;

g glPushMatrix();
glRotatef(_angle,0.0,0.0,1.0);
theGun();

glPopMatrix();




/ .... The bullet will be moving
Hvoid Draw()| { ... 1
#void theGun() { ... }

tivoid theSurface()| { ..» }
fvoid theBullet()| { ... TN\
1 \
I
g / glPushMatrix();
- glRotatef(_angle,0.0,0.0,1.0);
R theGun();
/' glPopMatrix();
)
\4

-lvold theBullet()
{ eglColor3ft(l1.0, 0.6, 8.0);

glTranslatef(xVal,yVal,0.8);
gelutSolidSphere(9.1, 15.0, 2.0); }




Ivnid Draw()| { ... }

#lvoid theGun() { ... 1
#lvold theSurface() { ... }
#lvold theBullet()| { ... }

0]

navuid handleKeypress(unsigned char key, int x, int vy){
switch (key) {
case 'w':

_angle += 1.09;
glutPostRedisplay();
break;

case 's':
_angle -= 1.8;
glutPostRedisplay();
break;

case 'a':
update(@);

break; }




Ivnid Draw()| { ... }

#void theGun() { ... 1
#lvold theSurface() { ... }
#lvold theBullet()| { ... }

0]

—lvoid handleKeypress(unsigned char key, int x, int vy){

switch (key) {
case ‘w':
glutPostRedisplay(); a |w |E |F

_angle += 1.0; ) C e e -
break;
L] L] A- S‘ D
case 's':
_angle -= 1.8; [z v e
glutPostRedisplay();

break; __——’/

case "a':
update(@);
break; }




=lvoid handleKeypress{unsigned char
switch (key) {

case 'w':
_angle += 1.09;
glutPostRedisplay();
break;

case 's':
_angle -= 1.8;
glutPostRedisplay();
break;

case 'a':
update(@);
break;}

key,

—lvoid update(int value)
{

theCalculate();

xVal += 0.003;

yVal = a*xVal - b*xVal*xVal;
glutPostRedisplav();

else
{ xVal =
yvVal =

8.0
©.e; 7}

it (yVal > -0.8 && xVal < 12.8)
glutTimerFunc(l.8,update,®);
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float
float

a
b

B.0;
B.0;

iEvDid theCalculate()

{ a
b

navuid handleKeypress(unsigned char key,

= tan(_angle*(3.1416/180.0));

= gVal/(2*vNot*vNot*cos( angle*(3.1416/180.0))*cos(_angle®(3.1416/180.0))); }

\[El\fﬂid update(int value)
{

switch (key) {

case 'w':

_angle += 1.0;
glutPostRedisplay();
break;

case 's':
_angle -= 1.8;
glutPostRedisplay();
break;

‘a':
update(@);

break; }

case

[~ theCalculate();

xVal += 0.003;
yVal = a*xVal - b*xVal*xVal;
glutPostRedisplav();

else

{ xVal
vVal

0.06;
©.e; 7}

it (yVal > -0.8 && xVal < 12.8)
glutTimerFunc(l.8,update,®);



__—
Updating the (X,Y) : The equation

—
float a = 0.0;
float b = 0.0;

—lvoid theCalculate()
{—a = tan(_angle*(3.1416/180.0));
b = gVal/(2*vNot*vNot*cos( angle*(3.1416/180.0))*cos(_angle*(3.1416/180.0))); }

/
‘5------~..___;;jiif update(int value)
9|a:tan(9)| .

theCalculate();

xVal += 0.003;

yVal = a*xVal - b*xVal*xVal;

glutPostRedisplav();

it (yVal > -0.8 && xVal < 12.8)
glutTimerFunc(l.8,update,);

else

{ xVal = 8.8;
yvVal = ©.8; }
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float a = 0.0;
float b = 0.0;

—lvoid theCalculate()

{

—a = tan(_angle*(3.1416/180.0));
b

b = g
—> 2 X u?x cos@?
2 -7
‘y:ax—bx .

_—

Updating the (X,Y) : The equation

= gVal/(2*vNot*vNot*cos( angle*(3.1416/180.0))*cos(_angle®(3.1416/180.0))); }

\_U\Gid update(int value)
S | a = tan (0) | .

theCalculate();

xVal += 0.003;

yVal = a*xVal - b*xVal*xVal;
‘,)7 glutPostRedisplav();

) o if (yvVal > -0.8 &% xVal < 12.0)
glutTimerFunc(l.8,update,);
else
{ xVal = 8.8;
yvVal = ©.8; }
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Updating the (X,Y) : The equation

—
= | float a = 0.0; “void theBullet()
float b = 0.0; {  glColor3f(1.0, 0.0, 0.0):
~lvoid thECak”lﬂte‘:i glTranslatef(xVal,yVal,0.0);
Lo Eiziﬁgfiﬁuiﬂl glutSalidSpheWS.a, 2.0); Higo 0y): 3
—lvoid updpte(int value)
{
theCglculate();
+= 0.003;
= a*xVal - b*xVal*xVal;
ostRedisplavy();
) o if (yvVal > -0.8 &% xVal < 12.0)
/‘,’ : glutTimerFunc(1l.0,update,);
_ 2 ’ else
‘y — ax— bx - { xVal = 8.8;
yvVal = ©.8; }



(0,0)

> X=12.0

—lvoid update(int value)

{

theCalculate();

xVal += 0.003;

yVal = a*xVal - b*xVal*xVal;

glutPostRedisplav();

it (yVal > -0.8 && xVal < 12.8)
glutTimerFunc(l.8,update,®);

else

{ xVal = 8.8;
yvVal = ©.0; 1}
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(0,0)

> X=12.0
g ) X

Y = '0-8 \\\
‘K\\ —lvoid update(int value)
~ AN
S { N
RN theCalculﬁfe(),

'\\ xVal += 0. Ema\

‘)&Hal a*xVal - ﬂ*x"ﬂal*x‘u’al

gldtPn5tRed15p1ay(},

it (yval > -0.8 && xval < 12.@)
glutTimerFunc(l.8,update,®);

I else

{ xVal = 8.8;
yvVal = ©.0; 1}




(0,0)

> X=12.0
) X
Y = '0-8 v\ ] \\\ ]
. —lvoid update(lnt value)
\\\ { \\
~
RN theCalcula\_\e() :

'\\ xVal += 0. Ema\

‘)&Hal a*xVal - '{L*J{Ual*x"ufal
glu’tPDStRedls.play(},

it (},r"l."al > -0.8 && x"-..l"al < 12.@)

glutTimerFunc(l.8,update,®);

I else

C e e | { xVal = ©.9;
Q |W |E |F yvval = 8.0; 1}
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